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(a) %5(2:) (b)25(21) () 6(20) (d) -%5(2:)
2. HyO)=x()*h(t), M2 a>0 B, y(at) A
(a) ax(ar)*h(r) (b) x(r)*h(ar)

* (c) x(ar)*h(ar) (d) ax(ar)*h(ar)

3. E8x(n)= 2Sin’(gr) —3Sin(2m) R AN
l @) 8 (b) 4 (©)2 @1
4. EEREFS (ONBRME e =10'nrad/s, HFXTHME, FABBEEHNE
SHIKRIRES (o), MF2ZE R ) R A5 76 18 I8 5 8% RO L3 5 71 8
(a) 107's, 10*Hz (b) 107's, 5>-< 10’ Hz

(c) 5X1072%s,5X10°Hz (d) 5X107°s, 10*Hz
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a GG ) | z| (b) vy | 2| <2, | z| =3
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i (KB 154, BPEE54)
—PTREMEREESR (1) &#, Q) HA, 3) FE, W) B, FTHES
PAREE RALSL, IR, iR,

e(r),t1 22
_ 1. r(t)=40,r=0
e(t +2),t <=2
y & dJ.;?) +ty(t) = x(1)

3. y(n)=x(n)x(n+1)

= (X@E3 104, §PEEZSH)
HH FIEH
1. [u(r)—u(r—Z)]*[He_H]

2. [Gy(n)~G,(n-4)]*G,(n) (G, (n) HEFFF)

4. (B3t 15 4)
ER - ELN B BEENEFROFEANT RGO HE b
h(t)==Sa(6), Hy(jo)= jo, R

% 4232




_download.kaoyan.com

| PEBEBARERRL H (jo), MR A0

2. He(t)=2Cos(6ns +%9)Cos(2m +%) B, A (o).
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2. B B R M\ th VR AR S
3. BaZALieE, K H(jo), ZH¥URA 3Sin ()u(r) &, SRR G Fa WAL

4. T B AR AU R K.
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e [
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. (&8I 15 77)

B R R, BRI H(S) = 2 =4,
U,(s)

. K FREG H,(S):
o FAE T F 5 H,(S) hEaE R, Kk (MEMTEH:

3. MTFZ&L H,(S) In R Ia e, sk B ph M.
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mE\BEFRERARS, K
. RGRIESHE:

2. TGty B (L B A W Y
3. MR 1 (k) = Cos(§k+4s')u(k) i}, R IE AR AW

0 Je—eD (o4
/ > o y(k)
(2)—a(2) o
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e (AR 15 49)

CAmENERRA,

1.3k H(D) ;

2. AT RERITRE 1L

3. KRB ALAF{ERARL A(n) ;
! 4. FWR x(n)=u(n), FWMARENMVREHERN y,0) =1, y,(1)=2, KFWMA
Wl N, R A el S 14 W .
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1 (REIE 15 43)

EHES f(0)=2Sa(n)Sa2nr), K [ £2(0)de BOME. (RIF
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